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HOSPITAL & HEALTH SYSTEM – I                           
( HISTORY & EVOLUTION )    

Time Allotted : 3 Hours Full Marks : 70 
 

The figures in the margin indicate full marks. 

Candidates are required to give their answers in their own words 

as far as practicable. 

GROUP – A 

( Multiple Choice Type Questions ) 

1. Choose the correct alternatives for the following : 10 × 1 = 10 

i) IMR is usually expressed as a rate per 

 a) 1,000 live births   b) 10,000 live births 

 c) 1,00,000 live births  d) None of these. 

ii) Indigenous system of medicine means  

a) Allopathic medicine  b) Homeopathic medicine  

c) AYUSH d) None of these.  

iii) Jungalwalla Committee was appointed by Govt. of India 
in 

 a) 1964   b) 1965 

 c) 1967 d) None of these. 

iv) National Health Policy aims to reduce MMR to                 
100/1 lakh by 

 a) 2008  b) 2009     

 c) 2010   d) 2011. 
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v) Following are the morbidity indicators except 

 a) Incidence and prevalence 

 b) Notification rate 

 c) Bed disability days  

 d) Duration of stay in hospital.  

vi) Human Development Index values range between 

 a) 0 to 1    b) 1 to 2 

 c) 2 to 3 d) 3 to 4. 

vii) One DALY is 

 a) One lost year of healthy life 

  b) Two lost years of healthy life  

 c) Three lost years of healthy life 

 d) Four lost years of healthy life. 

viii) Infant mortality rate is the ratio of deaths 

 a) under 1 year of age in a given year to the total 
number of live births in the same year 

  b) under 2 year of age in a given year to the total 
number of live births in the same year   

 c) under 3 year of age in a given year to the total 
number of live births in the same year 

 d) under 5 year of age in a given year to the total 
number of live births in the same year. 

ix) Community Health Centres are built at the rate of 1 for 
every .................. population in tribal & hilly areas. 

 a) 50,000 b) 60,000    

 c) 70,000 d) 80,000. 
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x) The term ‘integrated health services’ is defined by 

 a) Kartar Singh Committee 

 b) Mukherjee Committee 

 c) Jungalwalla Committee 

 d) Srivastava Committee. 

GROUP – B 

( Short Answer Type Questions ) 

 Write short notes on any three of the following.  
  3 × 5 = 15 

2. Positive health. 

3. Elements of primary health care. 

4. Hospital viewed as a system. 

5. PQLI. 

GROUP – C 

( Long Answer Type Questions ) 

 Answer any three of the following.  3 × 15 = 45 

6. Describe the determinants of Health. 

7. Why is a modern hospital known as a complex entity ? 
Discuss. 

8. What are the intramural and extramural functions of a 
hospital ? 

9. Discuss about the National Health Policy briefly. Describe the 
present state of hospitals in India. 

    


